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Question Number : 1 Question Id : 3354726431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
EBagh Cawves are located in

Options:
1. % Char | 97

2. % Guna | -1
= ¥ Mandla [ 55T
4. % sighi ; |t

Question Number : 2 Question Id : 3354726432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first Jalabhishelk P}bhi‘j.?aﬂ was launched in Madhya Pradesh in the vear

.| AT U H Ug AT AATTIuE
H T T T am

Options:
1. % 2008

2. % 2015
2. ¥ 2008
4. % 2002

Question Number : 3 Question Id : 3354726433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which cne of the following bones is of the human neck? | FafmET sigat # § 219 o 0 6 &1 87

Options:

1. % Slkull | wuTe

= ® Sacrum | T
3. % Tibia | Tl

4. ¥ itlas | Ueed

Question Number : 4 Question Id : 3354726434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The MNational Newsprint and Paper Mills Ltd. started production in 1955, In which state is it located? | TE
AT Td U e %ﬁ%@ﬁlﬁ%ﬁm S ToraT oM o TR O | T B

Options:

1. % Madhya Pradesh | T ncar
2. ® Karnataka | Flecw

3. ® Uttar Pradesh | Z0¢ Ugar

4. % Kerala | 97

Question Number : 5 Question Id : 3354726435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is a Fural Electrification Scheme of the Government India? | FERRT S #F drarg
T S TTAIT TIIT B

Options:
1. % PMIIBY | UTTR=reiars
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2. ¥ DDUG]Y | 22

I % PRASAD | ol
4, % HRIDAY | g9

Question Number : 6 Question Id : 3354726436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

World Food Day’ 1s celebrated on
ST R

Options:

1. ¥ 16th October | 16 aTFar

2 % 15th October | 15 aTFaR
= ® l4th October | 14 sy
4 % 13th October | 13 TR

Question Number : 7 Question Id : 3354726437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Le Corbusier helped the Indian Govt. in the designing of which city? | & @iy = g ardT a5¢ #1 BemgT w8
T TR & TgIdT &7

Options:

1. % Patna | eAT

2. % Pondicherry | OTiZ=i
=, ¥ Chandigarh | 9=

4. ® MNew Delhi | 2 T&wel

Question Number : 8 Question Id : 3354726438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which is the Grand Slam title that Rohan Bopanna worl in 20177 [ 2017 § &9 g 900 FEam @1 U a1 =

Options:

1. ® wirnbledon Doubles | Hawed savd

2. % U5 Open Mixed Doubles | I TH iU Tias Zavd
= % Australian Open Doubles | ST #= 20 Sdeq

4 ¥ French Cpen Mixed Doubles | Ul SiiUd THHas Sded

Question Number : 9 Question Id : 3354726439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Chairman of the Public Accounts Cormrmittes of the Farliament is appointed by: | 96 & AlF #1G@T G &
A T ERT g Ty = &

Options:

1. % The President of India | 9T % TEUR

2. ¥ The Speaker of Lok Sabha | @ & a1

Z. % The Prime Minister of India | ¥R & Ta=H=T

4. % The Chairman of Rajva Sabha | T3 @97 & aneay

Question Number : 10 Question Id : 3354726440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

Where is Mahaparinirvana Temple located at? | AW Ay FET #9T 57
Options:

1. ® Sanchi | |R=T

2. % Sarnath | AWART

3. % Sravasthi | ATdied

4 ¥ Kushinagar | F=Tw

Question Number : 11 Question Id : 3354726441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Electoral Bonds Scherne announced in the Union Budget 2017-18 is intended to: | 2017-18 & #g awe §
T TS IS AT & I293 8

Options:

1. % Mobilize funds for conducting elections | gATT FATEd F- % o7 &7 =1

2 % Garner funds for implementing electoral reforms | FATET R & AN F & #0719 G2

=. ¥ Bring greater transparency in funding of political parties | T=1d® el & Toed T # S77ee TRaiEar AT

4 % allow political parties to declare unaccounted funds | TEHITGE GAl ®1 o EaTe RS SIS T Sl STgard gAr

Question Number : 12 Question Id : 3354726442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Koodivattam recognised by UNESCO as a ‘Masterpiece of the Oral and Intangible Heritage of Humanity’ is a;

/ BT HI=0a T UTH HTad T o HITE® Ud STd o rad & 48 Faar & &1 § Feass &
Options:
1. # Traditional food itern of Tarnil Nadu | T ®7 qRai® @rer o

2. ¥ Traditional form of dance in Kerala | &% H 9o & TRAF &7
% % Form of folk singing in Karnataka | #ice § Aaid & &
4 % special kind of saree woven by artisans of Andhra Pradesh | STl Waal & FTRT &R -1 T 26 W @i Jrar

Question Number : 13 Question Id : 3354726443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

E%Elﬂ_ja? Gandhi Thermal Power Station of Madhvya Pradesh is located in
AT

| T W&aT o W el He vae

Options:
1. % Umaria | FAMET

2. % Shahdol | =
% % Harda [g%ar

4 % Shivpuri | TdEger

Question Number : 14 Question Id : 3354726444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Inspired by a church in Scotland, a Scottish diplomat constructed a church in Sehore. Whern was it constructed?

| THICAS & U ol o UIT G, [ SR Iied T o dig i H e aqaraT 9 g & a1 417

Options:
1. % 1952

= ® 1847
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3. % 1838
4 % 1978

Question Number : 15 Question Id : 3354726445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the famous Shiva Temple located in Raisen District? | TTow M # e niteg g afey #5787

Options:

1. ¥ Udaipura | 3447

2. % Goharganj | T

3. ¥ Bhojpur | 9T

4. % Raisen Fort | Y& TFar

Question Number : 16 Question Id : 3354726446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Jogiva Chattarn Char-ruarti is situated at

Options:

1. % Jabalpur | SEeyY
2 ® Mandla | AZT

% % Khargone | @
4. % Rajgarh | T=TE

Question Number : 17 Question Id : 3354726447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MName the origin of the rivers Narmada and Son. | FHaT & @9 Ffet & g0 &7 AW a95T

Options:

1. % Amarkantak | S@e®
2. % Shahdol [ g

= % Umaria | AT

4. % Dindori | =N

Question Number : 18 Question Id : 3354726448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Narme the largest mosque situated in Ehopal. | W0 H 3T 9a9 92T ATCAS &1 A7 Fd1220

Options:

1. % Moti Masjid | AT AleTg

2. ¥ Taj-ul-Masjid | T-TA-ATEAS
= % [slam Masijid | 56T ATCAS

4. ® Gauhar Masjid | TiET AT

Question Number : 19 Question Id : 3354726449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Swami Vivekananda was a chief discipleof _________ .| EETHT e & g Taw o

Options:
1. ¥ Ramakrishna Paramahamsa | ﬂ'ﬂfgﬂﬂTW
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= % sri surobindo [ o7 sRiEET

= % Csho | sttt

4 % 53i Baba | 9% =T

Question Number : 20 Question Id : 3354726450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

20th Dec17 Shift 2

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

________ was the first wornan of Indian origin in space. | SiFNe § ST ST IR 05 &1 OgdT g

Options:

1. % sunita Williarms | gaT e
= ¥ Kalpana Chawla | ®ed=T ITaeT

% % Tessy Thomas | 29T 9TA9

4. % MNandini Harinath | 2=t gheamer

General Maths and General Aptitude

Section Id : 335472184

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472184
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The price of an itern is marked down by 25%. By what percentage must the marked down price be increased to

et it back to the original price? | UF T&g &1 HIAT 25% FF STHd H1 TS 3 T80 J06 T e SHd 07 71 & 7 sifeT
EARETERIGE G AT I 1 o e

Options:
1. ® 25%
2 % 30%

1
3 335%

4. % 40%

Question Number : 22 Question Id : 3354726452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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I.II and III are squares with perimeter of I = 12 cm and perimeter of II = 24 cm. Then the area of
IT in sqem is JLITHAR IO a@et § f9aeT 1 &1 oft@mna = 12 &4 3R 11 &1 ofyammg
=24 3 81 ar gt T F 1 F7 AFhd 2l

I
i

Options:
1. % 36

o ® 7o
3 ¥ 81
4 # 100

Question Number : 23 Question Id : 3354726453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Simplify: / XA

a*b?c
a3pdc?
Options:

1% ab®c?

33
E.ch

5 % a’ b’ c?

[
4 v bc

Question Number : 24 Question Id : 3354726454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the 2017% digit in the decimal representation of%? f% ¥ goraed Hegor & 20177
Hah T 87

Options:

1. %0

o v

3 %5

4 % g
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Question Number : 25 Question Id : 3354726455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the perimeter of a square is 16 cm, then what is its area? | Aie T 971 &7 AT 16 GHT 5, T SHET 836 a1 g7

Options:

1. % dsgcm | 4 aradt
2. ¥ 16 5q cm | 16 =07 AT
3 % 12sgcm | 12 07 |AT
4 ® Zsqocom | S EAT

Question Number : 26 Question Id : 3354726456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If a2-b2=24, a+b=12, then what is a?/ Tf& al-b2=24, a+b=12, dva FT &7

Options:
1.% 4
2 7
3% B
4 % 12

Question Number : 27 Question Id : 3354726457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | &g e

31, 83, 17, 52, 27
Options:
1. % 41
2 W42
3. % 43
4 % 44

Question Number : 28 Question Id : 3354726458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If 3x2 +9x + 17 =0, then (2x + 3)? is equal to: / AT 3x2 +9x + 17=04T (2x + 3} 58 &Y

g

Options:
1. % 41/3

2. ¥ -41/3
3. % 13
4 % -13

Question Number : 29 Question Id : 3354726459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the exterior angle of a regular polygon is 1/12th the interior angle, then the number of sidesis___ | oie T
TH S T TGS 0, S BV AT 112 5, T1 YISl il e
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Options:
1. % 12
2. % 13
3% 24
4. ¥ 28

Question Number : 30 Question Id : 3354726460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the Speeds of two individuals are in the ratio of 4:5, then the time taken to cover the same distance Ly them

will be in the ratio: | Ii¢ &1 sAal &1 TTd 4:5 & ST H §, T ITdr G GH Gel 1 a9 F- § S0 GHg T8 S0 § g
Options:
1. % 4.5
2 ¥ 54
3 % 23
4 % 37

Question Number : 31 Question Id : 3354726461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Aarnir is 20 years old and Rahane is 20 yvears old. After how many vears will the ratio of their ages be 4:57 |

ST 20 oY T 5 371 TR 30 oY @7 g1 R ol G Il 713 @7 iuTd 4:5 g
Options:
1. % 15 vears

15 9
2. % 10vears | 10 a9
. % 20vyears | 2099
4, ® 2S5 vyears | 2599

Question Number : 32 Question Id : 3354726462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the difference between the greatest and the least number that can be written using the digits 6, 2, 7, 4, 3
each only orice? | 37 Ugal A% FAqTH ST & s BT S509C A & g 6, 2,7,4,3 | Ued® < @1 dae 0w 91 SUAT Fd
T T = w77

Options:

1. % 50000
2. ¥ S29ES
I % LZEES

4 % 51965

Question Number : 33 Question Id : 3354726463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
& shirt and a trouser cost B5. 2000, while a shirt alone costs s, 500 How rmach does a trouser costy | U

T S U Ul &1 Qe 2000 03 §, el fhc! FH &1 e 800 T 81 Udeld &1 g fra-m 87
Options:

1. % Rs 1200 | 1200 Z53

2. % Rs 1000 [ 1000 70t

3. ® Rs 800 [ 300 T
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4 ® Rs 500 [ SO0 T

Question Number : 34 Question Id : 3354726464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 94987E6 is divisible by 18, then the smallest value for A+Eis___. | AT¢ 9A9S7EE, 18 A EME=a 9T A+B &
TorT e A __

Options:
1.% 1
2. % 10
3. % 15
4 ¥ B

Question Number : 35 Question Id : 3354726465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The prime numbers between 0 and 100 is; | O T 100 % AT rwa Tl & G375

Options:
1. % 39

2. % z1
3. ¥ 25
4 % 17

Question Number : 36 Question Id : 3354726466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If x5 — 6x* + 9x3 — 4x2 + 24x + 50 is divided by x -3, then the remainder is: /Ife x5 — 6x*

+Ox3— 4x2 + 24x + 50 &+ x -3 ¥ fQentora Far aw, ar A9Ee geEm:
Options:

1. % B0

2 ¥ 36

=% 2D

4 % _zg

Question Number : 37 Question Id : 3354726467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Six points are chosen on two parallel lines x and v, as follows: 4 points are on line x and two points are on lme
. How many triangles can be drawn with their vertices among the gwe ﬁﬁ@ﬂtﬂ"«' | T AT e x Ay

m@ﬂ%@mﬁﬁmﬁﬁmw% 4 Torg x ¥ Sl felvg v nﬁﬁgﬁﬁﬁaﬂﬁﬁﬁﬁmﬁﬁaﬂwaﬂﬁ
AT

Options:
1. % 10

2. % 12
3% 14
4. ¥ 16

Question Number : 38 Question Id : 3354726468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

The average of marks scored by the students of a Class is 68, The average of marks of girls in the class is 80
and that of;::@o_é’s_ai)rs 60. What is the perceﬂxggée of boys in the class? | UF 4T & T ST W TFY T S5t @7 T
G B T H o it 7 AT 80 T A=® @1 60 21 waT H A=@! & idad wanaft 27

Options:

1. % 40%
2. ¥ 50%
=% B8k
4 % F0%

Question Number : 39 Question Id : 3354726469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A, B and C together can finish a work in 4 davys. & alone can finishitin 12 davys and E alone in 18 days. In

how many days will C complete the work, working alone? [ &, B 3T C Uw &1 &1 4 Teat § 9870 &7 9% d 51 ST 4
T 12 Rt # b PP B 98 18 Rt 3 AT ¢ G 31 e e A 5 C et ey Rt e A

Options:
1. % 8
2. ¥4
3% B
4 % 10

Question Number : 40 Question Id : 3354726470 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the remainder when 3755 is divided by 37 | 3785 @ 3 & foTiad o= W 747 $9ha HaaT 57
Options:

1. %0

2 %1

3 V2

4. % None of the above | J0d% # & #1E T8t

Cereral Hindi

Section Id : 335472185

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472185
Question Shuffling Allowed : Yes
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Question Number : 41 Question Id : 3354726471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T ez 2 -
Options:

1.¥q

2 %0

3% Y

4 % g

Question Number : 42 Question Id : 3354726472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘T TR T R T | e AT B
Options:

1. ¥ wx

2 % e

3 % Ed

4 % I

Question Number : 43 Question Id : 3354726473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SEAR FaT ATAT Seg, BT -
Options:

1. v

2 ® aiw

3 % ad

4. % qaft

Question Number : 44 Question Id : 3354726474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T-5 T gy I T B -
Options:

1. % gif

2  giEr

2 % By

4 % g

Question Number : 45 Question Id : 3354726475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ey Teg T el gr F arfdw A ® _____________ H

Options:
1. v &
2 ® g
3 % fiEm
4 ® e
20th Dec17 Shift 2



20th Dec17 Shift 2

Question Number : 46 Question Id : 3354726476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘AT F AT g B F BT AT E?
Options:

1.v¥ 9

2. % any

3 % AT
4. % JET

Question Number : 47 Question Id : 3354726477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“ForeehT 2o o AT 5T o o e e FE H A @ AT R
Options:

1. amieas

2 ® Tieda

3. AT

4 % yTETEH

Question Number : 48 Question Id : 3354726478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T Fr AT et PR A @ et arge
Options:

1. % 3q+5T

= % Ig+Ed

3. % IE+UT

4 ¥ Iq+Ed

Question Number : 49 Question Id : 3354726479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘e T AW qeg ME H F @ AT Y

Options:

1. ® e

2 % g

3. ¥ el

4. ® T

Question Number : 50 Question Id : 3354726480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I IAET F AT e WE H E R 27

Options:

1. % 3w
2. ¥ Iuee
2 % goad
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4, % Feura

Question Number : 51 Question Id : 3354726481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Torer s # Mg © & F19 A HHE 27
Options:

1. % Jcqey q9u

2. ¥ Ty ga

3. % FHURT G

4 % TmrEEE

Question Number : 52 Question Id : 3354726482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T T Gerad @ af Fe A e wm ar gy

Options:

1. & faamg Fe
2. % T AT
3. % AT

4, ® geiEr a=mET

Question Number : 53 Question Id : 3354726483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“THT FT E T H H w91 a7
Options:

1. ¥ Z=g7

2. % g

3. % gy

4 % Zar

Question Number : 54 Question Id : 3354726484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FTET T T AT AT 590 & B AT 57
Options:

1. v g\

2 %

3. % IoAn
4%@

Question Number : 55 Question Id : 3354726485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
@ﬁwwnﬁfm
<1 & g W

H I AT SR ) ﬂﬁr CET R T

Options:
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1. % 0 ST
2. % JUAT STAEW
3. ¥ I SR
4. % it aewT

Question Number : 56 Question Id : 3354726486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T THAT Seg gid - He it
Options:

1. % Temar

2. Teif

3 % g

4. % gwpy

Question Number : 57 Question Id : 3354726487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
‘MREFTST Meg H ®I | HIET 2-
Options:

1. % T |rer

2 T A

3 ® foar |fer

4 ® sl |t

Question Number : 58 Question Id : 3354726488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

EEC G EECEICICHE
Options:

L. % srgam

2. ¥ s

3 % g

4 % arim

Question Number : 59 Question Id : 3354726489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

' STTE ! T 3 I AT el e & -
Options:

1. % Toeqel 0T T8 o1 Foui 52 5l

2. % FT T Joug WS O AT W Egd B
3 % Foed T Ioa BT R

4 T & ST & FROT IR O AT [HER B g

Question Number : 60 Question Id : 3354726490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A +T =T A+ T = 3, Tav | & oy 97 B =% Far a7
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Options:

1. % ek afer
o % ghg grer
3. T T
4, % ForHTE

20th Dec17 Shift 2

Eural Econormy and Panchayati Raj

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

335472186
4

Online
Mandatory
20

20

20

Yes

No

1
335472186
Yes

Question Number : 61 Question Id : 3354726491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

State Policy on Organic Farming in Madhya Pradesh was released in ______ .| T nE A | Sdw T W T AT w0

TefrT T 2m

Options:
1. % 2004

2. ¥ 2010
3. % 1998
4. % 2015

Note: For this question, discrepancy isfound in question/answer . So,this question isignored for all candidates.

Question Number : 62 Question Id : 3354726492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who has to approve the proposal to irmpose tax | fees at Gram Fanchayat level? | TTH T &0¢ 0T F) o T &

TEATd I I SATST a a7
Options:

1. % District Collector | Faematar
2. % Zila Panchavat | FaT f=mae
3. % Gram Sabha | TTH 4T

4. ¢ Janpad Fanchayat | F=0g 0=

Question Number : 63 Question Id : 3354726493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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If the Chairperson of a Panchayat at any level does not belong to SCs/5Ts]OBCs, who among the followirg

must necessarily belong to one of these categories ? | g TRl f T0¢ IT Tk U BT S1e004), SRR ST | STef=
AT | e TUee Tl o Telled =51 &, a1 149 H & (e TTaeaed &0 & 5 911 & Felreld g7 a1igy?

Options:

1. % All the members | T Ageal

Z % Vice-Chairperson | JUTEdy

3. ® Secretary | ARG

4. % Chairpersons of all Standing Committees | T T aifiEal & sremy

Question Number : 64 Question Id : 3354726494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the prime objective of National Food Security Mission? | T8 @1 G 0 &7 TgE 359 47 27

Options:

1.IO ® Provide nutritious food for children | ==t & &0 fifEw MW IR FM

2. ¥ Increase production of foodgrains | TR #T 0T S5

% % Provide nutritious food for pregnant wormen | THad T AlgATe & &0 0iE® SMER J0A
4 # Increase production of egg | ST & IeqEA TN

Question Number : 65 Question Id : 3354726495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many crop zones are there in MP? | W2 0S| el Tohd - Ba & &7

Options:
1. % 2
2 %3
3 % 4
4 ¥5

Question Number : 66 Question Id : 3354726496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which state has generated maximum percentage days of work under MGNREGS in 2016-177 | 2016-17 #
AT (MGINREGS) & 959 1900 T ﬁraa‘rd‘gﬁrﬁﬁaﬁaﬂ IEKREEICIE

Options:
1. ® Maharashtra | AgRMEE
2. % Azsam | EA

3. % Tamil Nadu | TEe-S

4 ¥ Madhya Pradesh | HeEWaa

Question Number : 67 Question Id : 3354726497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which tax is collected by Panchayat? | W=Td & gRT e @ & ageT a1 57

Options:
1. % Sales Tax | Taw #¢
2 % Custorn Duty | 9T I57F
2. #® Land Revenue | T=ed
4 ¥ Tax on local fairs | GIHE O7T 0 &
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Question Number : 68 Question Id : 3354726498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Madhya Fradesh Panchayat Act, 1981 was based on the review of the Panchayati Raj systermn undertaken by
the | T M v arfarem, 1981 A ST ST STt U T T HOTTGHT el AT O ST 4m

Options:

1. ¥ M P Dubey Corrrmittee | TR el ®HT
2. % Kashi Prasad Pandey | Fs 06TE 02T
3. ® ashok Mehta | Sfeffe Agar

4. % Balwantrai Mehta | gagderd Hgar

Question Number : 69 Question Id : 3354726499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who are the Ex-Officio Members at the Zilla Panchayat level? | @1 U= $0€ 0T 0o 26 #1957

Options:

1. % Only the MLA | e T

2. % Only the MP | #dd @16g

= % Cabinet Minister [ ¥fe-z g7

4 % Both the MLA & the MP | o &0 9mag A1

Question Number : 70 Question Id : 3354726500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
when did the 73rd constitutional amendment come into force? | 73T o= G e T T = a7

Options:

1. % 1991
=z % 1992
3. ¢ 1993
4. % 1994

Question Number : 71 Question Id : 3354726501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many Seed hubs are planned to be set up in the country during 2016-17 to 2017-187 | a4 2016-17 &
2017-18 ¥R, 2 # H1Z 5ol @1 TG T & AT 57

Options:
1. % Z00
2 ¥ 150
3% 100
4 % B0

Question Number : 72 Question Id : 3354726502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a hybrid variety of Mango? | Fa # & &9 @1 oA &1 0w gi5ies Weid 81 57

Options:
1. % Dashehari | Tagar
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= % Mallika | AfeorET
3 % Amrapali | STEUTET
4 % Ratna | w=@T

Question Number : 73 Question Id : 3354726503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which of the followin was NOT an Db_]ECthE of Integrated Child Development Programme implernentad by
Panchavats 7 | TR ZRT T AT T FEwH T 59T 51 57

Options:
1. ® Improved child care | =gt &7 I57 SEWA
2. ¥ Building schools | f&ema=t &1 fmfr

2. % Child health | =gl %7 qaw=T
4. ¥ MNutrition | W&o

Question Number : 74 Question Id : 3354726504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
DRDA stands for: | SRS F7 00 #7 &

Options:

1. % District Rural Development Agency | TEeeae &d SaruHe T=el

2. % District Reconstruction & Development Agency | T&tzae Na-zaaH U SaauHe T=egl
Z. % Direct Rural Development Authority | STEHEe S0 saadHe SR

4. % District Resources Development Authority | Eegge W Saauts asiieT

Question Number : 75 Question Id : 3354726505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the motto of Pradhan Mantri Krishi Sinchayee Yojana 7 | Wer T2 g1y Ri=mg T %7 Mg d-ama 37 27

Options:

1. ® Khet ko karo Khushhaal | B &1 # GIgTe
2. % Har Khet Ko Pani | 5% @9 &1 qHT

=, % Karn Jal Zyvada Fasal | &0 96 o181 HEad

4. % Sinchavee se samruddhi | W= & 99k

Question Number : 76 Question Id : 3354726506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Madhva Prgdesh Ceiling on Agricultural Holdings Act was enacted in: | 79 TE4 | FY TiHed Sei-=a- g
o FI BT,

Options:

1. % 1940

2 % 1950

3. ¥ 1960

4 ® 1970

Question Number : 77 Question Id : 3354726507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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The Naticnal Seeds Corporation was set upin _______ .| TP ot e @
Options:

1. ¥ 1943

2 ® 1953

3 ¥ 1963

4. % 1973

Question Number : 78 Question Id : 3354726508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Drawing and disbursing funds from Zilla Panchavat Funds is the duty of
A et Fa LAl

.| e v T g e

Options:

1.p ' Chief Executive Officer | J&g ®RIwNT STE@ENT
2. % District Collector | Fareffar

= % Panchayat President | T=Tad a7eay

4 # Revenue Officer | TF=ed STEwMNT

Question Number : 79 Question Id : 3354726509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is not covered under Pradhan Mantri Gram Sadak Yojana ? | FafeiEd # & @ wem=e=t
TTH A5 AT o STl 751 ST 57

Options:

1. ® New roads connectivity to villages | Tal § 7% GS& Fdeder

2 % Existing roads improvernent in villages | mal # UNg GS@! #1 guT
3. ¥ City roads improvernent | SEC H A2@1 § qUW

4. % All weather village roads | T4 A1GT aTeT TTHT T2

Question Number : 80 Question Id : 3354726510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following was declared as the Vear of Gram Sabha for the first time the country ? | MgRET # &
T AT Y, a7 § Ut @ T G A e T T e

Options:

1. # 2005-085

= ® 2007-08

3. % 2008-03

4 9 20039-10

Cormputer Knowledge

Section Id : 335472187
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472187
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Il corrputer security, means that the information in a computer systermn only be accessible for reading

by authorized parities. | AT GUaTH, ________ T 3 § T U RO e H T e ST uyl o BRT ue &
o1 g Iererer gra &)
Options:

1. % confidentiality | TO==ET

2. % integrity | 3FESAT

2. * availability | JUAEET

4. % guthenticity | TATIOEIT

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 82 Question Id : 3354726512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following shortcut keys permanently deletes files and folders? | oA o € ®19 € Aicde &,
WEAH J BiFed ®f gt w7 § 2w o 3dt g7

Options:

1. % SHIFT + Close

o % SHIFT + 4

= % SHIFT + X

4. % SHIFT + DELETE

Question Number : 83 Question Id : 3354726513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In M5 Excel 2007, charts are created using which tab? | THUE Ufdd 2007 H, Tog 3 @1 SR A #d g7 =18 #
T AT 57

Options:

1. ¥ Insert | 26

2. ® View | 99

3. % Data | 2T

4. % Review | WY

Question Number : 84 Question Id : 3354726514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
________ 15 used to break a long text in multiple lines within a cell in M35 Excel 2007, WQ@H 2007 ﬁ e
e T U olel SEC BT SF AGAT § dIa o Tl Ior T JUI T AT 5]

Options:
1. # Merge & Center | 7 3T Hex
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2. % Enter key | Uz #
3. ¥ Wrap text | 10 TFET

4. % plisnment | UATETHS

Question Number : 85 Question Id : 3354726515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who among the following had the first Internet? | Had Ugel Sed-1e BT SGd AT A § & Fpae fapam ar?

Options:
1. % The military | &7
2. % Financial Institutions | T2 1= d&emT

3. % Schools & Hospitals | TE=me 7= afuaTe
4. ® Individuals | 70T

Question Number : 86 Question Id : 3354726516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is available in a browser menu? | HAET § & 27 UF d99K 8§ J0Ad a1 87

Options:

1. ¥ Browser History | STa9 Teeel
2. % Mail Merge | 0 A=

3. % Srrart Art | HARE AT

4. % Page Layout | U oleflae

Question Number : 87 Question Id : 3354726517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which one is the Hard copy output device? | 578 & F47T 0% 512 BT ATE0T 1Ea15d 27
Options:

1. % Printer | Tzt

2. % Pen drive | U9 T8

= % Monitor | HT-ET

4. ¥ Joystick | FTaies®m

Question Number : 88 Question Id : 3354726518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT an appropriate way to scroll up and down a document in M3 Word? | AT 92 H,
T o & AT STFgHT T G Ta 0 7 TH1 ST3 B BT T51 aUE T8 a7

Options:

1 % Using the Scroll bar | qsnTm T T

2. % Using the Arrow Keys | TR =l &7 J0m
3. ¥ Using the Enter Key | Ue€ $1 &1 J0IAT

4. % Using the Mouse Scroll [ AT39 GeTd &1 J09mT

Question Number : 89 Question Id : 3354726519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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which icon is used to open a new word processing docurnent? | TF sz &7 I, 97 92 TTEiET STegds 1
Gl & Tohy o =T &7

Options:

2. v

B
3 %
4 *

Question Number : 90 Question Id : 3354726520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which protocol assigns IP address to the client connected in the internet? | ®1= @1 HITPIH, S00-E d FS T FrilEe

Options:

1. % RCF
2 % ASCII
2. % DHLF

4. % DHCP

Question Number : 91 Question Id : 3354726521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In M5 Word, ‘Ctrl+C followed by ‘Ctrl+V will do which one of the following actions? | UATE @2 #, Ctrl+C T ag
Crl+V FaT | AR # & ®19 &7 @ g

Options:

1. ¢ Copy and paste | ®T 0d 1HT
2 % Cut and paste | T 0 YT

= ® Copy and format | T Od BTHS
4. % Copy and delete | T 0T Bl

Question Number : 92 Question Id : 3354726522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The long horizontal bar at the bottom of the desktop screeniscalled .. | EEEI Hjﬁ 7 % FTeH T AHa
gaTaw _______ FEATT 5]
Options:
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1. % Menu bar | A1 aR

2. ¥ Taskbar | TTgHaR

3. % Taolbar | TA€R

4. % Scrollbar | Riee

Question Number : 93 Question Id : 3354726523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MName the blinkirg symbol on the screern that shows where the next character will appear in M5 Word? | THTE
T=H Ejﬁ?ﬂ?ﬂ?ﬁéﬁﬁ\ TErHE T AT T § AT SaidT g [ STAT SER wgl aEy

Options:
1. % Cursor | wEY

2. % Delete key | T2die g=it

3. % Arrow key | URT w1
4 % Return key | Ted gt

Question Number : 94 Question Id : 3354726524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

________ is the exchange of CDI‘ﬂputEI‘—StDI‘Ed Imes5a g2 b‘}.? telecorTuTiurlication. III e, éﬁ“ﬁﬂﬂ EI%-E'HE\FERT
FHREC-FE 1S He &7 ﬁ%ﬂﬂ H
Options:

1. % E-mail | 3-8«

2. % E-web | 3-d

% ® E-chart | 2-9°

4 % all of the above| IWIFT a4

Question Number : 95 Question Id : 3354726525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The transfer of data from one place to another is known as: | ST HT TF T & G T T FETd T T T

FEAAT )
Options:

1. ® Data processing | SETHEET

2 % Data entry | SRITAET

3. ¥ Data COrumunication | STET g

4 % Data encryption | STET Ui-aqe

Question Number : 96 Question Id : 3354726526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
arranging of data in a logical sequence is known as: | ZTET® UF ATwd A1t § gaaeid T T PEaaT &

Options:

1. % Sorting | /T

2. % Searching | R

3. % Classifying | FATEMEET
4 % Reproducing | T
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Question Number : 97 Question Id : 3354726527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following tabs is used to activate the ruler in MS Word 20077 | TAUS deig 2007 #, Ma d & 29
AT 2, T BT A1 FT & o0 SHAHIA [T AT 37

Options:

1. View | 99

2 % Review | gy

2. ® Insert | 96

4. #® References | frptws

Question Number : 98 Question Id : 3354726528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Most websites have a main El‘% which acts as a doorway to the rest of the website pages is knowrl as: | A Qﬁlﬂ

daATECd B UF qET U BT R deATET & U1 o oI UeF 2R & 9 H 10 3941 &, 56 (0 710 & FHT 947 5
Options:

1. % Search engine | &= &7

2. % Home page | EH T

3. % Browser | W13

4. % URL | F&IROe

Question Number : 99 Question Id : 3354726529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Projection displays are used for: | WHgae [EHye @7 3w Ta= & oo e =mar
Options:

1. # Seminars only | Sae SEAT

2. % Marketing presentations only | e AT BT

3. % Classrooms only | & 4T
4 ¢ all of the above | T T #F o0

Question Number : 100 Question Id : 3354726530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which of the following is NOT a storage device? | FFaicET 8§ & #1149 97 0w @i [EaEq 931 57

Options:

1. ¥ Flotters | telieg

2. % Hard disk drives | 512 12¢®F 515
% % Pendrives | U9 ZEL

4. % CD | HiEt
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